

# Differential Geometry Exercise 3

Zhang Liyang

Let  $M$  be a smooth manifold,  $p \in M$  and  $(U, \varphi)$  a chart at  $p$  with  $U \subset M$ .

$\Rightarrow \varphi: U \mapsto \mathbb{R}^n$

$\varphi^*: C^\infty(\varphi(p)) \mapsto C^\infty(p)$ ,  $\varphi^*(f) := f \circ \varphi: U \mapsto \mathbb{R}$   
 $\nearrow \in C^\infty(\varphi(p))$

$\varphi_*: T_p(U) \mapsto T_{\varphi(p)}(\mathbb{R}^n)$ ,  $[\varphi_*(X_p)](f) := X_p(\varphi^*(f)) = X_p(f \circ \varphi)$   
 $\hookrightarrow: C^\infty(p) \mapsto \mathbb{R}$

We have  $\{\frac{\partial}{\partial x_i}|_{\varphi(p)}\}_{i=1}^n$  a basis for  $T_{\varphi(p)}(\mathbb{R}^n)$

$\Rightarrow [\varphi_*^{-1}(\frac{\partial}{\partial x_i}|_{\varphi(p)})](g) = \frac{\partial}{\partial x_i}|_{\varphi(p)}(g \circ \varphi^{-1})$ ;  $\{\varphi_*^{-1}(\frac{\partial}{\partial x_i}|_{\varphi(p)})\}_{i=1}^n$  is a basis for  $T_p(M)$   
 $\hookrightarrow: U \mapsto \mathbb{R}$     $\mathbb{R} \leftarrow U \leftarrow \mathbb{R}^n$     $\hookrightarrow := E_{i,p} \in T_p(U)$     $\hookrightarrow: C^\infty(p) \mapsto \mathbb{R}$

Now we have another chart  $(V, \psi)$  at  $p$ .

$\Rightarrow \psi: V \mapsto \mathbb{R}^n$

$\psi^*: C^\infty(\psi(p)) \mapsto C^\infty(p)$ ,  $\psi^*(f) := f \circ \psi: V \mapsto \mathbb{R}$   
 $\nearrow \in C^\infty(\psi(p))$

$\psi_*: T_p(V) \mapsto T_{\psi(p)}(\mathbb{R}^n)$ ,  $[\psi_*(X_p)](f) := X_p(\psi^*(f)) = X_p(f \circ \psi)$   
 $\hookrightarrow: C^\infty(p) \mapsto \mathbb{R}$

We have  $\{\frac{\partial}{\partial x_i}|_{\psi(p)}\}_{i=1}^n$  a basis for  $T_{\psi(p)}(\mathbb{R}^n)$

$\Rightarrow [\psi_*^{-1}(\frac{\partial}{\partial x_i}|_{\psi(p)})](g) = \frac{\partial}{\partial x_i}|_{\psi(p)}(g \circ \psi^{-1})$ ;  $\{\psi_*^{-1}(\frac{\partial}{\partial x_i}|_{\psi(p)})\}_{i=1}^n$  is <sup>another</sup> a basis for  $T_p(M)$   
 $\hookrightarrow: V \mapsto \mathbb{R}$     $\mathbb{R} \leftarrow V \leftarrow \mathbb{R}^n$     $\hookrightarrow := F_{i,p} \in T_p(V)$     $\hookrightarrow: C^\infty(p) \mapsto \mathbb{R}$

Answer:  $[X_p]_\psi = D(\psi \circ \varphi^{-1})|_{\varphi(p)} [X_p]_\varphi$

Proof: For any  $f \in C^\infty(p)$  ( $\Rightarrow \exists W \in \mathcal{V}_p$  and  $W \subset U \cap V: f: W \mapsto \mathbb{R}$ ),

$$\begin{aligned} & (E_{1,p} \quad E_{2,p} \quad \dots \quad E_{n,p}) (f) \in \mathbb{R}^{1 \times n} \\ &= (\varphi_*^{-1}(\frac{\partial}{\partial x_1}|_{\varphi(p)}), \varphi_*^{-1}(\frac{\partial}{\partial x_2}|_{\varphi(p)}), \dots, \varphi_*^{-1}(\frac{\partial}{\partial x_n}|_{\varphi(p)})) (f) \\ &= [{}^T \nabla(f \circ \varphi^{-1})](\varphi(p)) = [D(f \circ \varphi^{-1})](\varphi(p)) = [D(f \circ \psi^{-1} \circ \psi \circ \varphi^{-1})](\varphi(p)) \quad \text{Jacobian matrix Use chain rule} \\ &= [D(f \circ \psi^{-1})](\psi \circ \varphi^{-1} \circ \varphi(p)) [D(\psi \circ \varphi^{-1})](\varphi(p)) = [{}^T \nabla(f \circ \psi^{-1})](\psi(p)) [D(\psi \circ \varphi^{-1})](\varphi(p)) \\ &= (\psi_*^{-1}(\frac{\partial}{\partial x_1}|_{\psi(p)}), \psi_*^{-1}(\frac{\partial}{\partial x_2}|_{\psi(p)}), \dots, \psi_*^{-1}(\frac{\partial}{\partial x_n}|_{\psi(p)})) (f) \in \mathbb{R}^{1 \times n} [D(\psi \circ \varphi^{-1})](\varphi(p)) \in \mathbb{R}^{n \times n} \\ &= (F_{1,p} \quad F_{2,p} \quad \dots \quad F_{n,p}) (f) \quad [D(\psi \circ \varphi^{-1})](\varphi(p)) \end{aligned}$$

Set bases of  $T_p(M)$ :  $\underline{\psi} := (F_{1,p}, F_{2,p}, \dots, F_{n,p})$

$\underline{\varphi} := (E_{1,p}, E_{2,p}, \dots, E_{n,p})$

Then  $(-\underline{\psi}-) \begin{pmatrix} | \\ | \\ | \end{pmatrix} [X_p]_\psi = X_p = (-\underline{\varphi}-) \begin{pmatrix} | \\ | \\ | \end{pmatrix} [X_p]_\varphi = (-\underline{\psi}-) \left[ D(\psi \circ \varphi^{-1}) \right]_{\varphi(p)} \begin{pmatrix} | \\ | \\ | \end{pmatrix} [X_p]_\varphi$

$\Rightarrow [X_p]_\psi = [D(\psi \circ \varphi^{-1})](\varphi(p)) [X_p]_\varphi$  □